Ziptales Timeless Tales

Multiple Choice Questions

Peter Pan

1. Peter Pan’s
shadow is ripped
off by

a) Wendy.
b) Mrs Darling.
c) Nana the dog.

2. The children who
Qo on a visit to
Neverland are

a) Peter Pan, Wendy, John and Michael.
b) Peter Pan and Wendy.
c) Peter Pan and Tinkerbell.

3. Captain Hook is a villain because

a) he wants to kill Peter Pan.
b) he lost a hand to Peter Pan.
c) helives on the Jolly Roger.

4. Tinkerbell is saved from Hook's poison because

a) Wendy uses a special medicine to save her.
b) Peter Pan gets her to spit out the poison.
c) children everywhere say they believe in fairies.

5. At the end of the story

a) the children return home and Peter Pan visits them from time
to time.

b) Wendy marries Peter Pan.

¢c) Jane goes away to live with Peter Pan in Neverland.
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